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1.  Determine the following:
	sin  2˚ =  _________	
sin 10˚ = _________	
sin 50˚ = _________	
sin 60˚ = _________	
	sin 178˚ = __________ 
sin 170˚ = __________
sin 130˚ = __________
sin 120˚ = __________

	cos  2˚ =  		
cos 10˚ = _________		
cos 50˚ = _________		
cos 60˚ = _________		
	cos 178˚ = __________ 
cos 170˚ = __________ 
cos 130˚ = __________ 
cos 120˚ = __________



In Summary:   For any angle 
sin  = ______________________
cos  = ______________________


2.  Calculate the value(s) for    that satisfy each of the equations listed.  
      Give your answer to the nearest degree.

a)  sin A = 0.6428		__________________________
b)  cos A = 0.4226		__________________________
c)  sin A = 0.9659		__________________________

[image: ]3.    Given  and                					       B                                                                  
a)  Determine the height of the triangle to the    20 cm

       nearest tenth of a centimeter.

                                                                                                                  
							A


b)  Determine and illustrate the number 		c)  Determine and illustrate the number
     of triangles that can be drawn if . 		     of triangles that can be drawn if 





d)  Determine and illustrate the number of triangles that can be drawn if 
          




[image: ]4.  Determine the measure of  to the nearest degree.





[image: ]5.  Given  and       
      If ,  determine the number 20 cm

     of triangle (zero, one, or two) that 
     are possible for these measurements. 
      Draw the triangle(s) to support your 
      answer.  Determine side c and .
                                                                                                     A





















6.   Given  and  and  ,  determine the number of triangle (zero, one, or two) that are possible for these measurements.   

Draw the triangle(s) to support your answer.  Determine side c and .
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APPLY the Math

EXAMPLE 1 Use reasoning and the sine law to determine
the measure of an obtuse angle

In an obtuse triangle, £ B measures 23.0° and its opposite side, b, has a
length of 40.0 cm. Side a is the longest side of the triangle, with a length of
65.0 cm. Determine the measure of £ 4 to the nearest tenth of a degree.

Bijan’s Solution

| drew an obtuse triangle to represent A ABC.

I knew that the longest side is always opposite the
-} largest angle, so the 65.0 cm side must be opposite
the obtuse angle, £ A.

Since A ABC s not a right triangle, | knew that |
could not use the primary trigonometric ratios to
(determine the measure of A,

sind _ sin B
"

sinA _ sin 23° ---{ The measure of an angle is the unknown, so | used
650  40.0 the form of the sine law that has the angles in the

in A in23° numerator.
 (sind) _ (sin23°) _
(’""(65.0) - ( 400 )(’"O

sin A = 0.6349...

I noticed that the diagram has two side-angle pairs with
only one unknown, £A. | decided to use the sine law.
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